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The safer , easier way to help you pass any IT exams.

Helcone to Global Learning Services Setup?

Boot from local drive
Install oelS5

Install oel55_64

Install RHCE [(xam

Install RHELS4

Standard installation
Standard installation Rescue

Press [Tab] to edit options

init 6 >F12

Ehfistudent , IBERERMEIN :

opl7 Desktopl$ ifconfig

Nk encap:Ethernet HWaddr 00:30:67:3F:59:DB

inet addr:192.168.0.17 Hcast:192.168.0.255 Mask:255.255.255.0
- inetf addr: feB0::230:67ff: fe3f:59db/64 Scope:Link
EIEEEQMCAST RUNNING MULTICAST MTU:1500 Metric:l

RX packets:25587 errors:0 dropped:0 overruns:0 frame:0

IX packets:11892 errors:0 dropped:0 overruns:0 carrier:0
collisions:0 txqueuelen:0

BX bytes:35368922 (33.7 MiB) TX bytes:794577 (775.9 KiB)

Link encap:Ethernet HWaddr 00:30:67:3F:50:08
inet6 addr: fe80::230:67ff:fe3f:59db/64 Scope:Link

UP BROADCAST RUNNING MULTICAST MTU:1500 Metric:1
RX packets:314973 errors:0 dropped:0 overruns:0 frame:0
IX packets:179069 errors:0 dropped:0 overruns:0 carrier:0
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